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JEN=TH RIS N
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ENIETH 1%&2 39 3-2 4t E| 8%3
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ENIETH 1%&4 39 1-3 4t E| 1282
ERETH 175 39 1-2 FathE| 9%?2

FE4thE| 10%&

FauE 12%1
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JERETHE 1%&15 38 1-1 FE4thE| AE:S
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ERETH 2%s8 37 2-3 E4HhE| 43726
ERETHE 2%9 37 2-1 FEahE| 43%A1
ERNETH 2%&10 37 1 FEAHE| 35%
F4hE| 43%3
FEatthE 43%4
ERETHE 2&FN 37 2-2 EahE| 43%25
ERNETH 2%&12 37 2-4 FEAHE| 43727
ERETH 2%13 37 3-1 E3ezpul
IERETHE 2%&14 37 3-2 fREH
ERETH 2%&15 37 3-3 E3e2pul
ENIETH 3% 32 7 3t E| 1261
ERETH 3%&2 32 8 E3HE| 94%
SE3tthE 95%
ERETH 3%&3 32 9 E3HE] 12281
SE3tthE 12632
ERETHE 3&E4 32 5 E3thE| 12434
ENIETH 3%5 32 10 3t E| 92%4
ERETH 3%&6 32 11 E3HE] 128%3
ENIETH 3%7 32 3-2 F4HE| 48%2
ERETH 3%s8 32 3-4 EAME| 46%
FE4thE| 49%3
ERETH 3%&9 32 12-1 F4HE| 50%&5
ENIETH 3&10 32 12-2 F4HE| 50%1
IERETE RE N 32 12-3 EAHE 51%1
ENIETH 3%&12 32 1 E4HE| 5117
ERETH 3&13 32 2 E4E| 47%10
IENMETE 3%14 32 3-1 FEAthE| 4881
FE4thE| 49%1
FE4HhE| 49%2
ERETH 3%&15 32 3-3 FEA4HE| 49%4
ERImTH 3%16 32 4 FE3HhE| 127%
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ERETH 4%6 33 2-3 E4HhE| 47812
ERETHE 4% 33 3-2 FEahE| 42%5
ERNETH 4338 33 2-4 FEAHE| 47713
ERETH 4%9 33 8 BEAHE| 451
IERmETH 4&10 33 1 {RERHh
ERETHE 4% 11 33 2-1 EahE| 471
ERNETH 4%12 33 2-5 FEAHE| 47814
ERETH 4713 33 2-2 E4HE| 47% 1
ENETH 4%14 33 3-1 FEAHhE| 42%4
ERETH 4%&15 33 4-1 BEAHE| 4151
EatthE 42%2
FEauE 42%3
FEatthE 44F1
ERETE 4%16 33 5 EAHE 39%
ENIETH 4%17 33 6 FEAHhE| 40%
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ENIETH 5%6 35 2-10 F4HE| 43%13
F4hE| 43%19
IENMETE 5%7 35 2-1 FEAthE| 4385
ERETH 5%8 35 1 E4HE| 42%1
RRETHE 5%9 35 2-4 FEahE| 43%14
ERETH 5%&10 35 2-5 FEA4HE| 43%15
ERImTH 5%&11 35 2-6 FE4HhE| 43%16
ERETH 5%&12 35 2-7 FEA4HE| 43%17
SEAWTHE 671 N Ych
ERETE 6%2 A
EAETA 6%3 34 4 EAME| 45%3
ERETH 654 34 3 FE4HhE| 45%2
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EMETH 6%&5 34 2 F4HE| 45%2
ERETH 6256 34 1 E4HE| 65%
EWIWTH &1 24 3 F4HE| 45%7
ERNETH %2 24 4 E4HE| 60215
F4hE| 6018
ENETH 7%3 24 5-1 FEAHhE| 45%9
ERETH &4 24 5-2 E4E| 45%10
ERNETH 775 24 6 FEAHE| 60711
FauE 60225
ENETH 7%6 24 8 E4HE| 60212
FauE 60213
EatthE 607%28
EAWTAE 1E7 24 11 F4hE| 45%8
ENIETH 7%8 24 12 FEAHhE| 607514
ERETH 7%&9 24 1 E4E| 72%2
FEatthE 12%4
F4hE| 73%2
IERMETH 7%&10 24 2 fRE2
ERETH 8&1 25 4 FE4HE| 51%2
FatthE) 51%16
IERMTHE 8%&2 25 5 fREH
ERETHE 8&3 25 6 EaHhE| 45%14
JERETH 8%&4 25 7 F4thE| 51%18
ERETHE 8&S 25 1 EaHhE| 60%24
ERETH 8%6 25 2 E4E| 45%13
ERETHE 8%&7 25 3 FE A E| 45%&5
FEatthE 60%1
ERImTH 9% 1 26 16 FE4HhE| 50%4
ERETH 9%&2 26 17 E4HE| 51%&9
IENMETE 9%&3 26 18 FEAthE| 4787
ERETH 954 26 19 E4HE| 51%8
IENMETE 9%&5 26 20 FEAthE| 4788
ERETH 976 26 21 E4HE| 51%&7
IENMETE 9%&7 26 22 FEAthE| 4789
ERETH 978 26 23 F4HhE| 60%5
FRETH 9%&9 26 24 FE A E| 4581
ERETH 9% 10 26 25 F4ihE| 604

16 / 37




AKX #H A& R

#; =]
#HX Eiih ez
F & ¥ &
ERETHE 9% 11 26 26 FEahE| 45%&1
ERETH 9% 12 26 27 FAhE| 45%1
ERETAH 9%13 26 28 FEAthE| 6073
FEatthE 60%&9
ERETH 9% 14 26 29-1 E4HE| 60%&7
ENETH 9%&15 26 29-2 FEAHhE| 6078
ERETH 9% 16 26 29-3 E4HE| 60729
ERNETH 9&17 26 30 FEAHE| 45211
ERETH 9%&18 26 1 E4E| 60219
ERETHE 9% 19 26 2 EaHhE| 4581
ERETH 9%20 26 3-1 E4E| 602520
ENIETH 9%&21 26 3-2 FEAHhE| 607526
FEAthE| 60%27
ENIETH 9%22 26 4 E4HE| 45%12
ERETH 9%23 26 5 FE4HE| 6021
ENIETH 9%24 26 6 E4HE| 45%1
EAWTAE 9% 25 26 7 EathE| 47%&?2
ERETHE 9726 26 8 EaHhE| 47783
FauE 47%4
FE4thE| 47%5
IERETE 9%&27 26 9 EAHE 51%&5
FE4thE| 51%6
JERETH 9%&28 26 10 F4thE| 51%4
FatthE) 51%20
EAmTAE 9729 26 14-1 F4hE| 45%4
FE4thE| 51%15
ERETH 9730 26 14-2 F4HE| 51%3
FatthE) 51219
ERETH 931 26 15 FEA4HE| 47%6
ERImTH 1081 22 9-2 FE4HhE| 59%5
ERETH 10852 22 9-1 FE4thE| 59%&1
ERImTH 1083 22 10 FE4HhE| 60%16
ERETH 1084 22 11 E4HE| 64712
ERImTH 1085 22 12-1 FEoHhE| 12%3
IERETAE 10%6 22 12-2 Fe6ithE| 12%2
IENMETAE 10%&7 22 13 REH
ERETH 1088 22 14 F10thE] 146%4
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ERETE 1089 22 15 Rkt
IERmETH 10&10 22 16 F124thE| 10%2
ERETHE 10%& 11 22 17 E6ihE 1453
E6thE 14%4
ERETHE 10%12 22 1 E6ihE 1431
ENETH 10813 22 2 EoHE| 14%2
ERETH 10%14 22 3 EeithE| 1251
ERNETH 10815 22 4 EoHE| 24%1
FEoHhE| 25%
F121thE| 1&1
F12ihE| 1182
F124hE| 1153
ERETHE 10%&16 22 5-1 FathE| 6452
ENIETH 10%&17 22 5-2 FEAHhE| 62%
EAWTAE 10%18 22 6 F4hE| 64%&4
ERETE 10819 22 7 EaHhE| 6473
IERETE 10520 22 8-4 EAHE 6271
ENIETH 1021 22 8-3 FEAHhE| 6271
ERETH 10%22 22 8-2 FE4HE| 62%
ERETE 108523 22 8-1 EaHhE| 6472
ERETAH 121 23 6 F4HhE| 72%A
FE4thE| 14%
FEAE| 76%&
ERETE 1152 23 8 EaHhE| 73%1
IERETE 1153 23 7 EAHE 7235
FE4thE| 5%
ERETHE 1154 23 5-2 EAHE 77%2
ERImTH 1155 23 4 EAE| 79%1
ERETH 11256 23 5-1 FE4thE| 77E1
FatthE) 79782
Fe6ithE| 4651
RRETHE 11%&7 23 3 FEoHhE 44FA
Fe6ithE| 45%1
ERImTH 1158 23 2-3 FEoHhE| 75%11
ERETHE 1139 23 2-6 F6ihE| 75%14
ERNImTH 11%10 23 2-4 EeithE| 75%12
ERETH RESR 23 2-5 F6HhE| 75%13
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ERETHE 11%&12 23 2-2 EXFE 75%&10
ERETH 11813 23 2-1 F6ihE| 75%&1
ERETHE 11&14 23 1 EXFE 4781
JERAWTH 12% N gathiil
ERETH 13% A S
JERAWTH 14% N gathi
ERETH 15% A S
JERAWTH 163 N gathiil
ERETH 178 A S
JERAWTH 18% N gathi
ERETH 198 A S
JERAWTHE 20%& AEagech i
ERETE 21% AE3=)
SERWTH 22% AEagech
ERETH 151 15 10 FothE| 17%&8
IERETE 182 15 11 E6HhE 1755
i =] 153 15 12 FEoHE| 1781
ERNETH 1%&4 15 13-2 6t E| 17%13
ERETH 175 15 13-1 FothE| 17%16
IENETH 1%6 15 13-3 FE6HE| 15%11

EoHE 1653

FE6ithE| 17%17
ERETHE 157 15 13-4 o 1715
IENETH 158 15 13-6 FE6HE| 17514
ERETH 159 15 13-5 FE6ithE| 17518
ERETH 1%&10 15 14 FEothE| 34%

FE6ithE| 35%&1

FEoHhE| 38%3
ERETH 1EN 15 15 FEoHE| 36%2
ENAETH 1%12 15 16 FEoHhE| 36%&1
INETH 1513 15 17 E 1001
ENAETH 1214 15 1 EeithE| 99%
ERETH 1&15 15 2 F6ihE| 36%&3

FEoHhE| 37%&A1

Fe6ithE| 37%&2

FEoHhE] 38%2
ERETH 1%&16 15 3 F6HhE| 15%2
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IEWNATH 1217 15 4 EeithE| 15%10
ERNETH 1%&18 15 5-1 F6ihE| 16%2
ERETH 1%19 15 5-4 E6ihE 16%&5
IERETHE 1320 15 5-2 E6HhE 16%
ERETH 1%&21 15 5-3 E6ihE 16%&4
IERETHE 1%22 15 7 E6HE 1754
i = 1223 15 8 EeithE| 1781
IERETHE 1524 15 9 E6HhE 1753
i = 2%&1 16 15 EeithE| 2182
SE6tthE 2183
Fe6ithE| 2157
SE6thE] 22%2
IERETH 252 16 17 EoHE] 26%1
SE6thE] 29%2
FE6ithE| 2%
ERNETH 2%3 16 18-3 6t E| 27%4
ERETH 274 16 18-1 FothE| 2755
ERNETH 275 16 18-2 6t E| 27%3
ERETH 2%6 16 19 FothE| 30%&1
FE6ithE| &
E6ithE| 33F
IENETH 2%&7 16 20 F124hE| 13%2
IEREAETH 2%38 16 21 F12thE| 1452
F124hE| 14%6
IERNEAETH 2%9 16 22 FE12thE| 1451
ERNETH 2%&10 16 4 FEothE| 1001
IERETH 2% 11 16 3 FE6ithE| 102%&4
ENAETH 2%12 16 1 FEoHhE| 102%5
ERETH 2%&13 16 2 FEoHhE| 1001
ENAETH 2% 14 16 5 FEoHhE| 100%3
ERETH 2%&15 16 6 FEoHhE| 1001
ENAETH 27%16 16 7 EeithE| 30%2
ERETH 2%&17 16 8-1 FEoHE| 28%1
ENAETH 2%18 16 8-2 EeithE| 29%1
IERETH 2%19 16 9-1 #&Eth
IENERETH 2%20 16 9-2 REH
ERETH 2&21 16 12 F6HhE| 22%5
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IEWNATH 2%22 16 11 EeithE| 17%10
ERNETH 2723 16 10 F6ihE| 17812
IEWNATH 2% 24 16 13 EeithE| 22%38
NAETH 2825 16 14 E6HhE 22%3
i = 3% 18 5 F12ih | 1251
ENAETH 3%&:2 18 6 E121thE 1383
i = 3%3 18 2-3 F12ih | 13%12
NAETH 3%4 18 1-2 E6HhE 271
i = 3%&S 18 1-1 EeithE| 27%6
ENETH 3%6 18 2-2 12t E| 13%F 11
i = 3%7 18 2-1 F12ih | 13210
IENETH 3%&8 18 3 F124hE| 12%3
F12thE| 12%4
F124hE| 12%5
ERETH 3%&9 18 4 F12thE| 10%1
NAETH 451 17 3 E121hE 13%1
i =] 472 17 2 F12thE| 13%4
NAETH 4%3 17 1 E121hE 15%6
IENETH 4%&4 AE3=)
IENETH 5%1 7 14-1 F124hE| 15%3
IENERETH 5%&2 7 13-2 F12thE| 15%16
ERETH 5%3 7 13-4 F121thE| 15818
IENERETH 5%4 7 13-1 F12thE| 15%&2
ERETH 5%5 7 13-3 F121thE| 15817
i =] 5%6 7 12-2 FE12thE| 1634
IENETH 5%7 7 12-1 F124hE| 1651
IERNEAETH 5%8 7 11 FE12thE| 15211
ENAETH 5%&9 7 9-3 FEoHhE| 16621
ERETH 5%&10 7 10 FEoHhE| 165%&1
ENAETH 5%&11 7 9-2 FEoHhE| 1071
Fe6ithE| 16633
E124E| 16%&5
ERETH 5%&12 7 9-1 F121thE| 1682
IENERETH 5%13 7 8 E124E| 19%1
F121hE| 19%2
IENERETH 5%14 7 7 F124E| 17%&1
F124thE| 18%
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IEWNATH 5%&15 7 6 F12ih | 17%2
IERETHE 5%16 7 5 EPEE 20%5
IEWNATH 5%&17 7 4 F12ih | 20%4
JENEAETH 5%18 7 3 F12#hE| 20%2
i = 5%&19 7 2-3 F12ih | 20%& 11
IERETHE 5%&20 7 2-1 E121thE 201
i = 5%&21 7 2-2 F12ih | 20%12
EAETH 5%22 7 1 fRERHh
i = 5%23 7 14-2 F12ih | 15%4
ENETH 6% 1 9 14 6t E| 10023
i = 6%&2 9 15 FEoHhE| 10282
F124hE| 14%3
ERETH 673 9 16-1 FEothE| 105%&1
ERNETH 674 9 16-2 6t E| 113%2
ERETH 675 9 17 FothE| 106
SE6thE] 1063
ERETH 676 9 18 FothE| 10632
ERNETH 6%7 9 19 6t E| 10782
i =] 6238 9 20 ezl
IERETHE 6%9 9 5 EX3E 97%
i = 6310 9 4-2 F12thE| 15%&1
F124hE| 15%5
IEREAETH 6% 11 9 3 E6ithE| 165%2
ERNETH 6312 9 2 FEothE| 162%
FE6ithE| 163%
FE6ithE| 1672
IERNEAETH 6713 9 1 FEoHhE| 1641
ENAETH 6% 14 9 4-1 F124hE| 15815
ERETH 6315 9 6 FEoHhE| 10922
ENAETH 6%&16 9 7-1 FEoHhE| 110%&1
IERNETH 6517 9 7-2 F6ihE| IARE:]
ENAETH 6318 9 8 FEoHhE| 105%2
EoHE 113%
ENAETH 6%&19 9 9 FEoHhE| 103%&1
Fe6ithE| 104%
ENAETH 6320 9 10 FEoHhE] 102%6
ERETH 6321 9 11 EoHhE| 100&1
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ERETH 6722 9 13 E6ihE| 1001
ERNETH 6723 9 12 ot E| 10223
IEWNATH &1 10 6 EeithE| 98%
JENEAETH 132 10 4 S 6ihE| 975
ERETH 783 10 7 E6ihE 113%&3
ENETH &4 10 8 6t E| 114%
i = 7%5 10 9-1 FEoHhE| 10923
ERNETH 7%6 10 9-2 6t E| 1091
E ik 1128
ENETH &7 10 2 6t E| 16023
i = 7%8 10 1 FEoHhE| 16182
ENETH 7%9 10 3-1 6t E| 115%&1
ERETH 7510 10 3-2 EoHE] 115%2
ERNETH 7EN 10 3-3 6t E| 115%&3
IERETH 7512 10 3-4 EoHE 115%4
SE6thE] 11651
IERETHE %13 10 3-5 EoHE 11652
IERETE %14 10 5 E6HhE 99%
EARTH 8&1 5 10 FE6ithE| 1681
ERNETH 872 5 11 FEothE| 173%4
ERETH 8%&3 5 12 E3ezpul
ERNETH 8%F4 5 5-2 FEothE| 173%13
IEREAETH 8%&5 5 5-3 E6ithE| 175%&1
IERATH 8%6 5 5-1 F121hE| 20%10
i =] 8%&7 5 4-2 FEoHhE| 175%2
ERNETH 878 5 2 FEothE| 178%&5
IERNEAETH 8%&9 5 1 FEoHE| 178%4
ENAETH 8%&10 5 3-1 FEoHhE| 173%1
ERETH LE 5 3-5 F6ihE| 173%:2
£ 173%9
ERETH 8%&12 5 4-1 F12hE| 20%&9
ENAETH 8%&13 5 3-9 FEoHhE| 174%4
ERETH 8% 14 5 3-2 FEoHhE| 173%8
ENAETH 8%&15 5 3-3 FEoHhE| 173%10
IERETH 8% 16 5 3-6 F6ihE| 173%& 11
ENAETH 8%&17 5 3-4 FEoHhE] 173%12
FeithE| 174%1
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ERETH 8%&18 5 3-7 E6ihE| 17482
ERNETH 8%&19 5 3-8 ot E| 174%3
ERETH 8%20 5 6 E6ihE 16021
ERNETH 8%&21 5 7 6t E| 170%2
E ik IAE:
ENETH 8%&22 5 8 6t E| 173%3
ERETH 8%23 5 9-1 FEoHE| 172%
ERNETH 8%24 5 9-2 6t E| 170%&1
i = 9%&1 2 3 FEoHhE| 178%&1
ENETH 972 2 2 6t E| 17782
i = 9%&3 2 1 FEoHhE| 17781
SE6thE] 17981
EoHE 179%3
JERRTH 9% 4 AEagech
i =] 108 AL
JERRTH 1% AEagech
i =] 12% AL
JERRTH 13% AEagech
i =] 14% AL
JERARTH 15% e g2ch
ERETH 165 AR Yzh
JERARTH 17% e g2ch
ERETH 185 AR Yzh
JERARTH 19% e g2ch
ERETH 20% AR Yzh
JERARTH 21E e g2ch
ERETH 22%F AR Yzh
JEARTH 23%F N
ERARTH 24%F N
ENAETH 25% A SR
ERARTH 26%F N
ENAETH 271% A SR
EARATH 151 14 7 F6ihE| 15%&15
BEAARTH 182 14 6 FEoHhE| 15%9
IERATH 153 14 8 F6ihE| 15%7
IBEAARTH 14 14 9-1 FEoHhE] 15%4
IERATH 125 14 9-2 EoHhE| 15%16
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IBERARTH 1%6 14 10 EeithE| 15%3
IERATH 127 14 2-2 F6ihE| 1581
IBERARTH 1%8 14 2-3 EeithE| 15%13
EANRTH 1%&9 14 11 6t E| 39%3
IBERATH 1&10 14 12 EeithE| 99%
EAARTH 1&11 14 1 6t E| M%E
IBERATH 1%12 14 2-1 EeithE| 15%12
EANRTH 1%&13 14 3 6t E| 43%1
IBERATH 1%&14 14 4 EeithE| 15%8
EAARTH 1&15 14 5 6t E| 15%14
IBERATH 2%&1 13 3-2 EeithE| 42%2
IEANRTH 272 13 3-3 6t E| 42%3
IERATH 2%&3 13 4-1 FEoHE| 39%1
IEANRTH 2%4 13 4-3 6t E| 39%4
IBERATH 285 13 4-2 FEoHE| 39%2
IEANRTH 27%6 13 1 6t E| 7632
IBERATH 2%&7 13 2 FEoHE| 75%3
IEANRTH 2738 13 3-1 6t E| 42%1
IBERATH 3&1 12 8-1 FEoHE| 75%4
IEANRTH 3%2 12 8-2 FE6HE| 75%5
IERATH 3%&3 12 8-3 E6ithE| 75%6
IEANRTH 3%4 12 8-4 FE6HE| 75%&7
IERATH 3%5 12 8-5 E6ithE| 75%8
IEANRTH 3%6 12 8-6 FE6HE| 75%9
ERATH 3&7 12 7-1 FEoHE| 76%3
EMATH 3%8 12 6 FE6HE| 76%&1
ERATH 3%&9 12 5 FEoHE| 77%
BEAARTH 3%10 12 4 FEoHhE| 108%&1
IERATH 3F 1 12 3-2 F6ihE| 95%2
FEoHhE| 95%4
IERATH 3% 12 12 3-3 F6ihE| 93%
BEAARTH 3%13 12 3-1 FEoHhE| 40%
Fe6ithE| 94%
FEoHhE| 95%3
IERATH 3F14 12 2 F6ihE| 96%&
IBEAARTH 3%&15 12 1-2 FEoHhE] 89%2
IERATH 3%16 12 1-1 F6HhE| 89%1
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IBERARTH 3F17 12 7-2 EeithE| 76%4
IERATH 431 11 5 3 E| 401
IBERARTH 472 11 6-3 #2Zh
IERATH 473 1 6-1 fRERHh
IBERATH 454 11 7 EeithE| 17%
FEe6ithE| 118%&2
IBERATH 4%5 11 8 EeithE| 118%&1
EANRTH 436 11 9 ot E| 1611
IBERATH 4% 11 1 EeithE| 158%&1
EAARTH 4338 11 2 E-Lgiuk 11823
IBERATH 4%9 11 3 EeithE| 90%&
FE6ithE| 9%
IERATHE 410 11 4-1 EoHE 92%
IEANRTH 411 11 4-2 ot E| 96%
IBERATH 4812 11 6-2 REth
IEANRTH 5%1 4 8-1 ot E| 120%2
IBERATH 572 4 8-2 FothE| 1203
IEANRTH 5%3 4 8-4 ot E| 120%&1
IERATH 5%&4 4 8-3 FE6ithE| 120%4
IEANRTH 5%5 4 7 FEothE| 158%4
IERATH 5%6 4 6-3 E6ithE| 158%&5
EMATH 5%&7 4 6-1 FEothE| 158%&3
ERATH 5%8 4 6-2 FEoHE| 119%
FE6ithE| 1582
EoHE 18115
IEANRTH 5%9 4 5 FEothE| 1591
ERATH 5%&10 4 4 FEoHE| 159%2
£ 159%3
EoHE 181%13
BEAARTH 5%&11 4 3 FEoHhE| 181%9
IERATH 5%&12 4 2 FEoHhE| 18178
BEAARTH 5%&13 4 1 FEoHhE| 181%7
IERATH 6% 1 3 6 FEoHhE| 181&10
BEAARTH 6%&2 3 7 FEoHhE| 181& 11
IERATH 633 3 8-2 F6ihE| 181%16
IBEAARTH 684 3 8-1 FEoHhE] 18112
IERATH 675 3 5 EoHhE| 18182
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EoHnE| 18153
IERATH 676 3 4 ot E| 180%
EoHE| 181814
EANRTH 6%7 3 3 6t E| 183%&1
IBERATH 678 3 2 FEoHhE| 183%6
IERATH 6%9 3 1 {RERHh
IERATE 6310 3
IERATH IES A gch il
EWATHE 8% AEE)
IERATH 9% AR gch
ERATHE 10%& N
ERATH 1M& AEagech i
IERATH 12% AL
ERATH 13% AEagech
IBERATH 14% AL
ERATH 15% AEagech
ERATE 163 AE3=)
wmYyEMTHE 63%&1 50 2 E10HhE| 128%
w7 EMTHE 63%2 50 1 E104E 129%
wYyEMTHE 641 49 12-1 F124hE| 6713
By EMTH 6432 49 12-2 F124hE| 6%&14
wYyEMTHE 64%&3 49 12-3 F124hE| 6% 14
BYyEMTH 6474 49 11-5 RE
wYyEMTHE 6455 49 11-4 REH
By EMTH 6476 49 10 E 104 E| 14433
E10HhE| 146385
10t E| 146%6
E10HE| 146728
By EMTH 647%7 49 11-3 fRERH
wyEMTHE 64%38 49 8 E10HE| 146882
By EMTH 6479 49 11-2 fRERH
wYyEMTHE 64%10 49 11-1 REE i
w7 EMTHE 6411 49 7 E10HhE 1311
E10HE| 13156
w7 EMTHE 64712 49 6 E10HhE 13158
wEMTHE 64%13 49 5-2 E10HE| 131&13
By EMTH 647514 49 5-1 F104hE| 13189

27 / 317




AKX #H A& R

#; =]
#HX Eiih ez
F & ¥ &
w7 EMTH 64%15 49 4-1 10t E| 13183
By EMTH 647516 49 4-2 F104hE] 131812
w7 EMTH 64%17 49 9 10t E| 131%& 11
w7 ENTH 647518 49 3 10t E| 14623
EyEMTH 64%19 49 2 E104E 1273
m7ENTH 647520 49 1 10t E| 130%
B7EMTH 65%1 51 2 10t E| 144%10
w7 ENTH 6572 51 1 10t E| 14412
ByEMTH 66F N
B7yEMTH 67%& N gathi
ByEMTH 68%F N
B7EMTH 69%F AEagech i
ByEMTH 0% N
AXBE—-TH 150%1 65 8 F11HhE| 10725
XBE—TH 15082 65 7 E11E 107255
AXBE—-TH 150%3 65 6 F11HhE| 107256
AH—TH 150%4 65 5 F11HhE| 107857
AXBE—-TH 1505 65 4 F11HhE| 107%4
AXH—TH 15026 65 3 F11thE| 2272
AEH—TH 150%7 65 2-4 F1HE| 30%&7
XB—TH 150%8 65 2-3 E1HE 30%6
AEH—TH 150%9 65 2-2 F1HE| 30%5
XB—TH 1502510 65 2-1 E1HE 30T
FE1hE| 30%&3
KE—TE 15011 65 1 E11#E 8% 1
F11HhE| 8%2
E11E 8%4
E11HhE| 8%5
E11HE 8%&7
E11HhE| 8%&9
AEH—TH 151% A
AEZ-TH 153%&1 66 5-1 E11HE| 107882
AEHZTH 153%2 66 5-7 F11HhE| 107872
AEZ-TH 153%&3 66 5-2 E11HE| 10781
AEBHZTH 153%4 66 5-3 F11HhE| 107264
AEZ-TH 153%&5 66 5-4 E11HE| 107252
AHZ-TH 153%6 66 5-5 F11HhE| 10770
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ABE=-TE 153%7 66 5-6 E11#E 107874

AHZ-TH 1541 66 6-2 F11HhE| 107859

ABE=-TE 15452 66 6-3 E11#E 10760

AHZ-TH 15423 66 6-6 11 E| 10763

ABEZTHE 154%4 66 6-4 E11#E 107861

AHZ-TH 15425 66 6-5 11 E| 107862

ABEZTHE 1546 66 4-3 E11E 10753

AHZ-TH 15487 66 4-5 11 E| 10773

ABEZTHE 15478 66 4-2 E11#E 107867

AHZ-TH 15429 66 4-1 11 E| 10768
F11thE] 107871

AHEZTH 154210 66 3 F11HhE| 15%3

ABEZTH 154811 66 2 E3HE 28%6
FE3thE| 40%

AEZ-TH 154212 66 1 fREH

AHEZTH 154813 66 7 F11HhE| 22%3

AEHZTH 155%% AL

AXEZ-TH 156%% YAE gzl

AEHZ=TH 157% 66 6-1 F11thE| 10758

AHEZTH 158% 66 4-4 F11HhE| 107248
EREE 10750
F11HhE| 107265
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